N—D9147

ol
BN 4 - PT1/8

I—@L‘)*J'fx“

BRAF1-INE

oI
11>

oLIVFa—T

)

us

- -
=
<y [} &
fERRAR ERREEEH
Pk —40°C~+80°C

E=EAES 10.4MPa

aE

AE 1 —99.975kPa
& F1-IHFRRHEBEOFESEEP. 37D

SREE,

Fa—TEEED (TOTED) ([CF 21— T DFRHERICHEIBF TELAATIIZE L,

RUBOBUS ARG Ty 21DV —R(CELF T,

N=THFDEEEH

N=THFF IRTIEEN—YDHEEE THODBROBENTTEETT,

TILRAZR ESEH
} F1—THLR:3.5%2
o | LY+ M5
Fa—RAR BEEa
o
' :L. Fa1—IHAR:14%2.5

QLY X:R1/8

b‘—l:“Zv?r—ﬁZﬂk HEEH
T ]

At Fa—THYAR:6x4
Lt nL Y« M5

A=FVIIVRRER

HEBH
o ]. F1—THLR:6%4
w
1:71'77‘-4_—52% HEEEH

= g

T

Fa1—THLR:6%X4

I=N—HILTILRRAR

St

HE e
F1—THAR:6x4
L Y4 X:R1/S8
A=N-HIbF—Tk HEEH

Fa1—THAR:4%X2.5
R LY 1 M5

(R7)
IR0y
£

%
BL-M5

(K1)
F4—70v7
b

]
BT-M5

(K1)
F4—J0Ov7J
b

]
BT-M5

(R7%r)
TLRIOvs
b

%
BL-M5

HR71)
F4—70v7
b

]
BT-M5

(RFr)
A=N=-HIVIRITOYvT

—
.

-
BUVL-M5

(RF1. LA
AZN=HIF1=T0Ov7T

0

-
BUVT-M5

_|_

+

(RUHI)
FITIZYIIL

Y
BAN-M5

(U

7IT9Zy TN FIFITvYa

P ¢

(F2—71)
axJ9

BN3.5-M5

(Fa—7)
axRJ9 axJ9

+ B I

BAN-M5  BAB-5-PT1/8 BN4-M5  BN4-M5
(AL (Fa—21)
FIFIZv I 3399 3399

® + B 3
BAN-M5 BN6-M5  BN6-M5
(Fa—J1)
3399 3399
= } = }
BN6-M5 BN6-M5
(Fa2—7Jfl)
ax99 399 a3%99
= } = } = }
BN6-M5 BN6-M5 BN6-M5
(U (Fa—7f)
7IFITvva 1399
+ P
BAB-M5-PT1/8 BN6-M5
(Fa—7Jfl)
399 a%99
BN4-M5 BN4-M5

axJ9
U X
T
= = ‘fi?;z%;;f RUYAX L g]:té?\' d2 RIIRE Be
(mm) (mm) (mm) (mm) (mm) (g)
L BN3.5-M5 3.5%x2 M5x%0.8 13.5 1.0 1.0 2.0
_3??‘- BN4-M5 4X2.5 M5X%0.8 13.5 1.5 1.5 2.0
‘_,..n""' . BN6-M5 6Xx4 M5%0.8 15.0 3.0 2.0 2.5
AR M=
M5x0.8 HEX8x ¢ 8.7
N="TIAT N—Y
Ik Ovo B8 5.5¢ 79I =TI B8 2.0g
mE&E:BL-M5 @& :BAN-M5
8
| HEX8x ¢ 8.7
‘ M5x0.8 M5x0.8
alw ® | e ()
L) - - 3 N
7.8
’ M>-0.8 HRT Y bEE A4, A NIRRT b
12 M5x0.8 1
F4—JOvT = 5.0g 7 SITwva BE 6.0g
& :BT-M5 fmE:BAB-M5-PT1/8
M5x0.8 M5x0.8 8 R1/8 HEX10x ¢ 10.8
‘* e ﬁ 4‘ S () —
N[l [ [ ;ﬂ L
M5x0.8
$7.8 12.5
12 M5x0.8
A=-N—Y)LIT)LRITOvy B 7.5g >S50 B8 1.5¢
mE&E:BUVL-M5 @& :BBP-M5
HEX8x ¢ 8.7 8 ‘ M5%0.8 HEX8x ¢ 8.7 M5x0.8
i &> ] Rl
s | - - e 1,
— ALl © 7N N
? ::{ \ 5 \ Li, ARy M=
~ 6.5
7.8 M5x0.8
¢1 5 HRYy pgE \usos

1=ZN—YILF7«—T0OvT
B&E:BUVT-M5

HEX8x ¢ 8.7

4

B=7.0g

[‘Lj 2-M5x0.8

' il
. T
® | P e
] \ \
N £
218 ARy MM E \M
12

HAAT vk

@& MRG-5-01

o

JEE 0.5mm

s

135





